Apartment in Sliema



Sliema, Sliema and St Julians Surroundings





Total Rooms: 6

Bathrooms: 2

Reference No: 240081117-64



Floor Area (m²) : **106**

Bedrooms: 3

Apartment - For Sale - Sliema

SLIEMA - New on the market is this three double bedroom apartment in a block of seven units. The apartment is in a squarish layout and its full of light. Property is found in the most prestige area in Sliema. Entering the apartment one finds a good size kitchen / living / dining measuring 35sqms. Further on a short corridor one find the other rooms on both sides finding a main bathroom and three double bedrooms of which main is with ensuite and balcony. Apartment is in a finished state excluding the doors. It is served with lift and one on each floor. Complimenting this Apartment is a 1 car space. Freehold. Contact us for viewing and further information

Features

- Lift
- Water Utility
- Gypsum Plastering
- Rooms
- Kitchen/Living/Dining : 8.2 x 4.2 m (34.44 m2)
- Double Bedroom : 3.9 x 4.5 m (17.55 m2)
- Double Bedroom : 4.6 x 4.3 m (19.78 m2)
- Double Bedroom : 4 x 3.5 m (14 m2)
- Bathroom : 3.5 x 1.7 m (5.95 m2)
- Bathroom Ensuite : 2 x 1.8 m (3.6 m2)
- Open Space : 0.9 x 2.5 m (2.25 m2)
- Open Space : 0.9 x 2.2 m (1.98 m2)
- Hallway : 3.5 x 1.9 m (6.65 m2)

- En Suite
- Electricity Utility
- Balcony

Gallery

















Pierre Cutajar RE/MAX Central - Birkirkara

M: 79003399 E: pierre@remaxcentral.com.mt T: 21480165

RE/MAX Central - Birkirkara Central Real Estate LTD,Triq Dun Karm, Birkirkara, Malta